T3 (FHT) FE AT/ B —REZEY RN 5 R E IR

M E% £ —EEEVRELS 5
R TEHD T/ \iETKZEET6147
1857 Bge ERIEE
B D EIE 24,800m
BIRE 157,514m
HE 48 55 68 1H 8H 9H 108 118 128 18 28 3K
1EH K t 254.67 284.48 201.85 307.29 296.82 233.21 272.82 271.83 248.90 243.37 207.49 291.59
o ; rhE t 9.04 19.30 5.40 6.81 35.18 5.06 56.93 7.85 9.48 13.22 11.85 12.43
%ggéhﬁﬁ%mﬁﬁ ~kA t 36.93 31.30 29.46 11.96 3.82 352.94 12.09 31.29 3.05 28.83 14.48 20.58
ZDfth t 0.00 0.64 0.29 1.44 6.18 5.54 7.62 6.66 470 213 1.05 422
i t 300.64 335.72 237.00 32750 342.00 596.75 349.46 317.63 266.13 287.55 234.87 328.82
RRBE (E/ERE) m — — — — — — — — — — — 53,284
BRAKR U TRDKERERE
TR K Tk | kB | 48168 | 58148 | 68118 | 7H9H 8H6H 98268 | 10888 [118278 [ 128168 | 18108 2H4H 38
No. B®REIEE EEAEEA R R R R A B ok | sk | sk | sk | sk | s Fok | sk | sk | sk | sk | ek | mRk | TRk | Rk
1 | XKBEEH(TY) BRIF3000| BRIFEH300] — 8/cm3 0 0 0 0 0 — 0 0 0 0 6 0 = 0
2 | KGR B (MPN) — = = MPN/100m| — — — — — 14 — — — — — — 7.8 —
3 [PHOKRAAVIEE) 5.8~8.6 6~8 — — 75 75 75 7.6 7.6 6.7 7.8 8.2 %2 74 7.6 78 75 6.8 7.3
4 [FHEME= (SS) 60 10 — mg/| 0.6 0.7 05K | 05Kim 0.6 24.0 05Ki# | 05k [ 05K | 05K | 05K | 05K 18.9 0.5k
5 [COD ULEHIBERERE) 90 20 — mg/| 2.8 2.6 2.6 2.9 2.8 47 2.6 5.3 2.8 46 33 38 55 5.4
6 [BOD (EMMLFHBFRERE) 60 20 — mg/| 2.0 1K 1K 1K 1K 0.8 1K 2.0 1 2 1 1 34 1
1|EFRAA4> — — — mg/| 2870 2570 3200 3300 2200 10.3 2570 2830 1890 2840 2940 2960 10.3 2860
8 [BHRE — — — cm 3ot | 3oudE [ 3oLk | 3ok | soplkE — 300t | 3oLk | 30LlE | 30LAE | 30LLE | 30LLE — 3080 E
9 |VAEE=E 16 05 — mg/| 01K | 01KHM [ 01KHE [ 0.1KHE | 01K 0.281 04K [ 01K | 01K | 0.1KHE | 01K | 0.1KiA 0.374 0.1k 5%
10|7VEZ7. 7VEZLMEEM R UNox [ 200 100 — mg/| — — — — 8.3 — — — — — — 6.1 = —
11| EZREFE 120 10 — mg/| 7.7 7.4 8.4 8.0 9.0 2.36 8.3 8.7 7.3 6.1 5.9 6.2 2.69 6.1
12| AL LAF — — — mg/| 424 65.0 60.4 16.6 234 — 51.9 6.7 72.7 15.8 24.2 13.3 — 17.1
13| F 50 L 0.06 0.06 0.006 mg/| — — — — 0.006K;#  0.0006K i — — — — — 0.006K ;% | 0.0006K i —
14|20 0.03 0.03 0.003 mg/| — — — — 0.003k;#  0.0003K i — — — — — 0.003K ;% | 0.0003K i —
15| FA~ AT 0.2 0.2 0.02 mg/| — — — — 0.025 % | 0.0027K — — — — — 0.025k#% | 0.002K 55 —
16| FER M ENEYHIESE 30 30 — mg/| — — — — 0.5k — — — — — — 05K % — —
17| S EK S HEE 5 5 — mg/| — — — — 05K 05K — — — — — 0.5K# | 05K —
18| hRSH LIEEY 0.03 0.03 0.003 mg/| — — — — 0.0055K % | 0.001 K & — — — — — 0.005k % | 0.001K % —
19| T7LEY 1 1 Tl mg/| — — — — 001K  FHEH — — — — — 001K  FHEH —
20| EH#4Y A 1 1 — mg/| — — — — 0.1K 7 — — — — — — 0.1K5H — —
21|88 0.1 0.1 0.01 mg/| — — — — 0.055#  0.0055K % — — — — — 0.05K#% | 0.005K 5% —
22| ffiy B L 05 05 0.05 mg/| — — — — 0.015K#% | 0.005K % — — — — — 0.013K#% | 0.005K 5 —
23|e%& 0.1 0.1 0.01 mg/| — — — — 0.015Kj#% = 0.002 — — — — — 001k  0.002 —
24| 7K $R 0.005 0.005 0.0005 mg/| — — — — 0.00055k ;% | 0.00055K i — — — — — 0.00055& i 0.00055 i —
25(7 L JLIKER THE | THE | T8d mg/| — — — — THiRE | THRE — — — — — T | THEE —
26|PCB 0.003 0.003 N mg/| — — — — 0.0005KiH — — — — — 0.0005Ki# Tl —
27|kJHOTFLY 0.1 0.1 0.01 mg/| — — — — 0.0015R 5 | 0.0015K ik — — — — — 0.001K 5%  0.001FKiH —
28| 7SO0 FLY 0.1 0.1 0.01 mg/| — — — — 0.0015R 5 | 0.0015K ik — — — — — 0.001K 5%  0.001FKiH —
29(1,1,1-r)yART Ry 3 3 1 me/| — — — — 0.0015k3% | 0.001K% — — — — — 0.001K3% | 0.001KE —
30|mig kxR 0.02 0.02 0.002 me/| — — — — 0.0015k3% | 0.001K% — — — — — 0.001k3% | 0.001KE —
(oynpAray BIEAFLY) 0.2 0.2 0.02 me/| — — — — 0.025#% 0002k — — — — — 0.025k% | 0.002K & —
32(12->Hyoox4y 0.04 0.04 0.004 me/| — — — — 0.0045k 3% | 0.0004kK % — — — — — 0.0043k i |0.00043K & —
33[1,1,2-r)yO0T A 0.06 0.06 0.006 me/| — — — — 0.0065K & | 0.00065K % — — — — — 0.0063k i | 0.00063k & —
34[11-sHynoTFLo (EIET=YTFY) 1 1 0.1 me/| — — — — 0.025#% 0002k — — — — — 0.025&% | 0.002K 5 —
35| R-12-CHyOn0xFL Y 0.4 0.4 — me/| — — — — 0.045% 5% — — — — — — 0.045% & — —
36(1,3->~on7 axy (D-D) 0.02 0.02 0.002 mg/| — — — — 0.002&#  0.0002 i — — — — — 0.0025K 7  0.0002K & —
37| R 0.1 0.1 0.01 me/| — — — — 0.013#%  0.001K% — — — — — 0.013&% | 0.001KE —
38[Jx/— )L 5 5 — me/| — — — — 0.1k | 0.005% 4 — — — — — 0.1k | 0.005% —
39| 4R 3 3 — mg/| — — — — 0.01Ki#H = 0.01KjH — — — — — 001K  0.01KiH —
40| EE $A 2 2 — mg/| — — — — 0.015K i 0.01 — — — — — 0.01K5H  0.01KiH —
A [BRMERR 10 10 — mg/| — — — — 0.10K% — — — — — — 0.10kK#% — —
2| BB A 10 10 — mg/| — — — — 0.105K i 1.72 — — — — — 0.10K 5% 1.6 —
43(~0 L 2 2 — mg/| — — — — 0.01Ki#H = 0.01KjH — — — — — 001K = 0.01KiH —
44| 7wk 15 8 — mg/| — — — — 0.2k | 02K — — — — — 02K | 02K —
45|7R 0% 50 10 — mg/| — — — — 0.3 0.1 5l — — — — — 0.3 0.1k —
46| 7oFEY — — — me/| — — — — 0.015# | 0.0002K — — — — — 0.01K# | 0.0002:K % —
47| RUIEEY 0.1 0.1 0.01 me/| — — — — 0.015#%  0.001K% — — — — — 0.013K% | 0.001KE —
48[1,4-CFF 4> 05 0.5 0.05 me/| — — — — 0.0055k 3% | 0.005K % — — — — — 0.005 3% | 0.005k % —
491 2-CHonTFLY — — 0.04 me/| — — — — — 0.004K % — — — — — — 0.004k & —
50|08 TFL Y — — 0.002 mg/| — — — — — 0.0002K ;i — — — — — — 0.0002kK % —
S51(AAAX 5 (ERAIE ) 10 10 1 pe-TEQ/L] 118128 | Wik 00025 | #FK 0.043 |

* EEEER, - REZVOERLUIERUVEXRZEVORBLSGICRIBIM LOELEEEHLESR].
*2 10 A8HITERK- DT DIER . pHIHEHIEHT RICK 5 —FMTIEREEBBBLHYELIA, pHEU Y —DRBICKYREL. FREEBRBBIHYFEEA.
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